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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 7 rFkk iz'u 38 gSaA  
Please make sure that the printed pages in this question paper are 7 in number and 

it contains 38 questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 
• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do not strike 

the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i) iz'u Øekad 1 ls 3 esa ls dksbZ nksnksnksnks iz'u djsaA 'ks"k 'ks"k 'ks"k 'ks"k lHkhlHkhlHkhlHkh iz'uiz'uiz'uiz'u vfuok;Zvfuok;Zvfuok;Zvfuok;Z gSaAgSaAgSaAgSaA 

  Attempt any two questions from question numbers 1 to 3. Rest are 

compulsory. 

 (ii) izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA 

  Marks are indicated against each question. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 
  Your answer should be according to marks. 

1. fMQjsaf'k;y D;k gS \ bldk egÙo D;k gS \ blds dk;Z D;k gSa \  6 

What is a Differential ? What is its importance ? What are its jobs ? 

2. cSVjh dk j[kj[kko djrs le; t:jr iM+us okyh lko/kkfu;k¡ fy[ksaA 6 

Write precautions required while handling battery. 

3. ykbfVax flLVe dh [kkfe;k¡ D;k gSa \ blds dkj.k D;k gSa \ blls dSls cpk tk ldrk gS \ 6 

What are the defects in lighting system ? What are its causes ? How they can 

be overcome ? 

4. lLisa'ku flLVe ds j[kj[kko ds fVIl fy[ksaA 3 

Write maintenance tips for suspension system. 

5. dSEcj dks.k ij uksV fy[ksaA 3 

Write a note on camber angle. 

6. fiLVu fjax D;k gS \ blds dk;Z D;k gSa \ 3 

What is a piston ring ? What are its functions ? 

7. lfoZl eSuqvy esa mifLFkr Hkkxksa dk o.kZu dhft,A  3 

Explain the areas covered in service manual. 
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8. lfoZl eSuqvy dh vko';drk D;k gS \  2 

What is the need of service manual ? 

9. Dyp fLyi ds dkj.k D;k gSa \ 2 

What are the causes of clutch slip ? 

10. 'kSdy D;k gS \ 2 

What is a shackle ? 

11. gkbZ Vsa'ku dscy ij uksV fyf[k,A  2 

Write a note on high tension cables. 

12. tEij ok;j D;k gS \ 2 

What are jumper wires ? 

 [    oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ] 

[ Objective Type Questions ] 

fjDr LFkkuksa dh iwfrZ dhft, %fjDr LFkkuksa dh iwfrZ dhft, %fjDr LFkkuksa dh iwfrZ dhft, %fjDr LFkkuksa dh iwfrZ dhft, %    

Fill in the blanks : 

13. DIP fLop dk mi;ksx …………. lekÑfr ds fy, gksrk gSA  1 

DIP switch is used for …………. configuration. 

14. LDR dk iw.kZ :i ………….. gSA 1 

Full form of LDR is …………. . 

15. baMDVj ,d dkW;y gS] tks …………. QhYM iSnk djrh gSA 1 

An inductor is a coil that generates ………….. field. 

16. FIG dk iw.kZ :i ………….. gSA 1 

Full form of FIG is …………. . 
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17. UNEP dk iw.kZ :i ………….. gSA 1 

Full form of UNEP is …………. . 

18. loZuke og 'kCn gS tksfd ……….. ds LFkku ij iz;qDr gksrk gSA 1 

A pronoun is a word used in place of ……….. . 

19. dkWek dk mi;ksx okD; esa ………….. n'kkZus ds fy, gksrk gSA 1 

A comma is used to indicate ………… in a sentence. 

20. LizsM'khV esa tc ,d vdsyk lsy lsysDV fd;k tkrk gS] rks mls …………. dgrs gSaA 1 

In spreadsheet, when a single cell is selected, it is called …………. . 

21. ,d okYo dks …………. Hkh dgrs gSaA 1 

A valve is also known as …………. . 

22. OHC dk iw.kZ :i ………….. gSA 1 

Full form of OHC is …………. . 

23. Toyu'khy xSl ds yhdst dks [kRe djus ds fy, okYo ds …………. dh t:jr gksrh gSA 1 

To overcome leakage of combustion gases, valve …………. is required. 

24. yksvj fiLVu fjax dk mi;ksx …………. dh lIykbZ dks ykbuj ij tkus esa daVªksy djrh gSA 1 

The lower piston ring is used to control the supply of ………….. to the liner. 

25. TDC dk iw.kZ :i …………. gSA  1 

Full form of TDC is …………. . 

26. dwfyax flLVe dk eq[; dk;Z batu dks …………. ls cpkus ds fy, gksrk gSA 1 

The primary job of cooling system is to keep engine from ……….. . 
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27. ECM dk iw.kZ :i ………….. gSA 1 

Full form of ECM is …………. . 

28. Mk;kÝke Dyp esa Mk;kÝke fLizax dk mi;ksx ……….. fLizax ds LFkku ij fd;k tkrk gSA 1 

In diaphragm clutch, diaphragm spring is used in place of ……….. spring.    

29. vkWVksesfVd Vªkalfe'ku …………. dUoVZj dk mi;ksx djrk gSA 1 

An automatic transmission uses ………… converter. 

30. lLisa'ku okgu ds Vk;j dks …………. ds dkWUVSDV esa j[krk gSA 1 

Suspension keeps the vehicle tyres in contact with ………… . 

31. yhQ fLizax dks …………. fLizax Hkh dgrs gSaA 1 

A leaf spring is also called ………… spring. 

32. ………… Taj Mahal is in Agra. 1 

(a) An  (b) The 

(c) A  (d) None 

33. lfØ; :i ls lquus dk izFke pj.k ………. gSA 1 

¼v½ izkIr djuk ¼c½ mÙkj nsuk 

¼l½ le>uk ¼n½ tk¡puk 

The first stage of active listening is ……….. .  

(a) Receive (b) Respond  

(c) Understand (d) Evaluate 
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34. vaxzsth Hkk"kk esa …………. fojke fpg~u gksrs gSaA 1 

¼v½ 6  ¼c½ 10 

¼l½ 13  ¼n½ 15 

There are ………… punctuation marks in English. 

(a) 6  (b) 10 

(c) 13  (d) 15 

35. LizsM'khV Qkby dk fMQkYV ,DlVsa'ku …………. gSA 1 

¼v½ .ods  ¼c½ .odt 

¼l½ .odp  ¼n½ .txt 

The default extension of spreadsheet file is ………… . 

(a) .ods  (b) .odt 

(c) .odp  (d) .txt 

36. lapkj.k …………. fn'kk dh izfØ;k gSA 1 

¼v½ ,d  ¼c½ nks 

¼l½ rhu  ¼n½ pkj 

Communication is a ………… way process.  

(a) One  (b) Two 

(c) Three (d) Four 

37. foHkoekih esa …………. VfeZuy gksrs gSaA 1 

¼v½ 1  ¼c½ 2 

¼l½ 3  ¼n½ 4 

A potentiometer has ………… terminals.  

(a) 1  (b) 2 

(c) 3  (d) 4 
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38. ………… fMokbl dk mi;ksx djaV ekius ds fy, gksrk gSA 1 

¼v½ oksYVehVj ¼c½ ,sehVj 

¼l½ vksg~e ehVj ¼n½ dksbZ ugha  

A ………… device is used to measure current.  

(a) Voltmeter (b) Ammeter 

(c) Ohmmeter (d) None 

ssss    

 


